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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) Multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. Match the following List-I with List-II

List-1 List-1I
(Organizations) (Head Quarters)
(a) ICAO (i) Montreal
(b) IATO (i) Brussels
(c) PATA (iii) Perth
(d) UFTAA (iv) San Francisco
Code :

(@ (b) (o) (d)

(A) ) @) 0 )
B () ) (v 0
© O @) (v G
D) (v @) O (i)

2. UFTAA is :

(A) Universal Federation of Travel Agency Association

(B) Unified Federation of Travel Agents Association
(C) Universal Federation of Travel Agents Association
(D) Union Federation of Travel Agency Association
3. Assertion (A) : Locale, with its attraction and amenities, is important as these are
very basic to tourism.
Reason (R) : Unless these are there, the tourist will not be motivated to go to a
particular place.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false
4.  Which one of the following is the indicator for the demand of tourism ?
(A) Actual demand (B) Surplus demand
(C) Differed demand (D) Gross travel propensity

D —9308 2
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@@ () (o (d)
(A) () @) @ (v)
(B) () (i) (v) ()
© O @) (@v) (i)
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D —-9308 3 P.T.O.



We have four types of tourism organizations. Identify the correct chronological order
in which they were set up.

(i) PATA (i) WTO
(i) UFTAA (iv) ITDC
A G G G @)
® () ) (v )
© @) @v) @) 0
D) G @ @) @)

Match the following List-I with List-II.

List-1 List-11I
(a) Elephanta caves (i) Nasik
(b) Ajanta and Ellora caves (i) Awurangabad
() Akkanna-Madanna caves (iii) Mughulrajapuram
(d) Udayagiri caves (iv) Bhuvaneshwar
Codes :

@@ () (o) (d)
(A) @O @v) @) (i)
B G @O @v) (i)
© @O G @ @)
(D) (v) @) @) @)

“Chandratal Lake” is in ..................
(A) Uttrakhand (B) Jammu and Kashmir
(C) Himachal Pradesh (D) Orissa

Assertion (A) : It is important for the destination to deliver a quality experience and
product. In this regard careful planning and management are essential
to ensure tourism industry based on sustainable principles.

Reason (R) : The mix of facilities and services are known as an amalgam.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false
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10.

11.

12.

13.

The Big four birds at Vedanthangal Birds Sanctuary Constitute :
(A) Painted Stork, Grey Pelican, Open billed Stork, Spoon bill

(B) Grey Pelican, Open billed Stork, Glossy Cormorants, Spoon bill
(C) Painted Stork, Ibises, Glossy Cormorants, Grey Pelican
(D) Spoon bills, Darters, White Ibises, Ibises

Arrange the following ranges from South to North :
(i) Himalayan range

(i) Zaskar range

(iii) Aravali range

(iv) Vindhya range

Codes :

(A) @ (@) @) ()
(B) (v) () () ()
Q) G) () (v) ()
(D) @) (@Gv) @) ()

Early hotels were called :
(A) Guest houses (B) Rest houses

(C) Temples of Relaxation (D) Taverns or Inns

Cabana room is :

(A) Room close to the other room

(B) Room having a Kitchen
(C) Room situated near the swimming pool
(D) Room situated on the top most floor

Assertion (A) : Total tourist nights are better indication of impact of tourism on a
destination than tourist arrivals.

Reason (R) : The number of visits to a destination is the best indication of the value
of tourism to the destination.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true and (R) is false

(D) Both (A) and (R) are false
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14. The “Guest is always right.” This statement was given by ................. .
(A) Peter Murphy (B) Ellsworth Steatler
(C) Harold Koontz (D) William Cornell

15. Match the following List-I with List-II.

List-I List-1I
(a) Mount Fuji (i) Canada
(b) Niagara falls (i) Pakistan
() Hunja valley (iii) Japan
(d) Khajuraho (iv) India
Codes :

@@ (b)) (o) (d)
A) ) 0 @) @)
B () (v @) 0
© (v ) @) 0
D) () O @) @)
16. Match the following List-I with List-II :
List-1 List-1I
(Country) (Train)
(a) France i TGV
(b) USA (i) Amtrack
(c) Japan (iii) Bullet
(d) India (iv) Rajadhani
Codes

(@ (b) (o) (d)
@A) (@) ) (v 0
B (i) (v @ 0
© (v ) @) 0
O () @) @) @)

17. The Red-Ribbon train flagged off on 1st December 2007 is to :

(A) create awareness about tourism

(B) create awareness on terrorism
(C) create awareness on AIDS
(D) create awareness on accidents
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(a) TS S (i) el
(b) AT TiTH (ii)  OTfeREd™
(c) gSmaet (iii) ST
(d) T (iv) zfeam
wiE
(@ () (0 (d
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@@ () (o (d)
(A) (@) @) @) @)
(B) (i) (v) () @)
Q) (v) @) @) @
D) @ @) () (i)
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18.

19.

20.

21.

22.

Match the following List-I with List-II.

List-I List-1I
(Railway zones) (Head Quarters)
(a) South Western (i) Bilaspur
(b) West Central (i) Secunderabad
(c) South East Central (iii) Hubli
(d) South Central (iv) Jabalpur
Code
@@ () (o (d)
@) O @) G @)
B () (v O G
© (v @) O i)
D) () @) @) @)
‘Hitkari Express’ Bullet train travels between :
(A) Beijing and Peking (B) New York and Boston
(C) London and Brussels (D) Tokyo and Osaka

Assertion (A) : Privatisation of Airports is necessary in India.

Reason (R) : Disinvestment in Indian airlines has been done completely.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) Both (A) and (R) are false

‘OAG’ is the important International Guide in air passenger transportation Worldwide.
Here ‘O’ means :

(A) Original (B) Official
(C) Ordinary (D) Occupied

Assertion (A) : An individual passenger wishing to enroll in an escorted tour or in an
independent tour would most likely consult a retail travel agent.

Reason (R) : The agent acts as a broker, who searches for a tour company that has
a tour appropriate for his client.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

D —9308 10
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23. ‘Thomas cook and sons’ established their first London office in the year :
(A) 1846 (B) 1856 (C) 1864 (D) 1865

24. ‘FIT’ means
(A) Foreign Inducive Tour (B) Foreign Inclusive Tour

(C) Free Inducive Tour (D) Free Inclusive Tour

25. Match the List-I with List-II :
List-I List-II
(a) A point between origin and destination (i) Cargo Transit

of an itinerary at which the passenger
remains for a period of time.

(b) Passengers who does not hold a confirmed (i) Stop over
reservation but wait at the airport ready to
undertake a journey if a seat is made
available at the last minute.

(c) Cargo arriving at a point by one flight and (iii) Stand by
continuing its journey by another flight of the
same or a connecting carrier.

(d) Cargo arriving at a point and departing by (iv) Cargo Transfer
the same through flight.

Codes :
@ () (o (d

(A) () @) (@) (D)

(B) (i) (v) @) ()

Q) (v) @) @) ()

(D) @) @) () (i)

26. Customers go through five stages in the process of adopting a new product in the

order as :

(i)  Trial (i) Interest (iii) Awareness

(iv) Adoption (v)  Evaluation

Codes :

(A) @) @) @) (@v) (V)

(B) (v) (v) @) @) @)

Q) () @) (v) @ (@)

D) @Gv) (v) @ @) (i)

27. In“AIDA’ model of hierarchy, the consumer response ‘D’ means :
(A) Development (B) Desire (C) Ditferent (D) Decision

D —9308 12
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28.  Which one of the following is not the “USER” ?

First time user

Potential user

List-11
User
Buyer
Initiator

Decider

Two-Stage System

(A) Regular user
(C) Former user
29. Match the following List-I with List-II
List-I

(@) Person who sows the seeds in
the customers” mind to buy the
product

(b) Person who has actually taken
the decision

(c) Person who actually consume the
product

(d) Person who actually buys the
product

Codes :
@@ () (o) (d)

@) () (v 0 G

® () O ) (i)

© O ) v (i)

D) (v @) O (i)

30. The distribution system involving two middle men is an example of
(A) One-Stage System
(C) Three-Stage System

Four-Stage System

31. The process and result of interaction between different cultures is described as

(©

Acculturation
Familiarisation

Acclimatization
(D) Naturalisation

32.  Which one of the following National Park is not in Jammu and Kashmir ?

(A)
(©

33. Assertion (A) :

Great Himalayan National Park
Dachigam National Park

Kishtwar High Altitude Park
(D) Hemis High Altitude Park

Carrying capacity relates not only to how much tourist presence the

destination can cope with at a sustainable level, but also how much
tourist presence and local factor change the visitor is prepared to

The carrying capacity is the dependent variable.

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)

tolerate.
Reason (R) :
(A)
(B)
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false

D —9308
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29.

30.

31.

32.

33.
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(C) M Teree Yorredt (D) <R 3Te%el Jurei

o= denfaal & <t oia:fean &t ufeen oik aftomm =t ford ¥ o =amen ot it 82
(A) THERIIHT (B) WAIHeA

(C) guRfed g (D) <RfteRO

FHITE T Tk ST T HRER A e 7 2

(A) I ferTermA “REd R (B) ToveaR T 3iciege ek

(C) =M ~REe Uik (D) =9 TR sifcees]s ek

JIHT (A) :  TET &HAT 7 hodl 369 § HHgd § foh Tqea T o Toieshl it gRoia
TR R HITE R ohell 8, T 399 off fop arsft fora wefeant ot Sufterfa sik
W[:ﬁ'q h[{ch dqcdld Wﬁ chi a? fera W%l

T (R) : TEA &IHT STFd TR B |

(A) (A) 3R (R) S §& T 3R (R), (A) FT T THH T |

(B) (A) 3R (R) TFi &l € W (R), (A) T Tl TIIH0T & T |

(C) (A) T € W (R) T B

(D) (A) 3R (R) ST Terd B |
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34.

35.

36.

37.

Which one of the following is not a technique for demand forecasting ?

(A) (B)
© (D)

Delphi technique Correlation analysis

Direct derivation Chi-Square analysis

Which one of the following is not a scaling technique ?

(A) (B)
(©) (D)

Arbitrary Scales Summated Scales

Narrated Scales Thurstone Scales

Match the following List-I with List-II

List-I List-I1
(a) w ()  Coeff of Q.D.
Q-
(b) Q3 + Ql (ll) QD
z|D
(©) N (i) C.V.
d) = x 100 (iv) M.D.
Codes :
@ ) (@© (@
(A) @@ @@ (@v) (i)
B @) @) () (@)
(© (v) (@@ (@) (i)
(D) (v) (1) (D) (i)

Arrange the sequence of the following :

(i) Formulate hypothesis

(ii) Design Research
(iii) Interpret the data
(iv) Analyse the data
@) O @) G @)
® () O ) (i)
© () O @) @)
O (O ) v (i)
D —-9308 16



34.

35.

36.

37.

I G, | T YETTAM T T qehieh 7 § ?
(A) STH THAH (B) WaHrg fageivo
(C) va" Ffa (D) T TR fageroo

frafafea # @ G erAm gfafy & g ?
(A) TR STIHM (FhaTd) (B) ST (Hehferd) STHM
(C) FAIHE SFTATI (D) e STgAT

Te-1 4 < el ol Gei-11 § < Al < |1 gaferd shifer -

ger-1 geE-11
@) w @)  Q.D. % TUH
Q3 —Q .
(b) Q3 + Ql (11) Q.D.
Z|D|
(c) N (i C.V.
@) 5 x 100 (iv) M.D.

P.T.O.



38.

39.

40.

41.

42.

Read the following passage and answer the questions given ( 38 - 41 ).

International tourism has experienced an overwhelming boom over the last two
decades and has now being called the largest industry in the world. Despite the positive
outcome, the rate of growth has varied unevenly from year to year. While most countries
have enjoyed a steady increase in their tourist arrivals, some have experienced the
decline in numbers at times. Planning under these circumstances is exceptionally difficult
and important. To be successful, accurate forecast of tourism demand are required.
This can avoid the financial cause of excess capacity or the opportunity costs of unfull-
filled demand.

The end of World war II as well as the development of relatively fast, safe and
comfortable air travel marked the genesis of modern day international tourism slightly
more than two quarters of a century ago, the serious study of International tourism
began. By virtue of the accumulating record of international travel statistics at this
time, researchers began to study the international tourism demand.

Over the last three or four decades, a substantial number of such studies have
been undertaken. A large portion of these have yielded emperical information and a
considerable majority have reported the accuracy of forecast. Forecasting methods
are generally classified in to quantitative and qualitative. The qualitative approach
which gives more accurate forecast than judgement forecast are further divided in to
causal methods and time series methods. The latter identifies stochastic component in
each time series, and its distinguishable feature is that no attempt is made to realize a
variable.

The uneven growth in International tourism leads to :
(A) Uncertain forecast (B) Uncertain revenue

(C) Uncertain growth (D) Uncertain arrival

Modern International tourism is mainly a credit to :
(A) Increase in knowledge (B) Increase in air travel

(C) Increase in financial resources (D) Good forecasting

The study of International tourism demand is by virtue of :
(A) Media (B) Statistics
(C) Forecasting (D) Supply

The most authentic method of forecasting is :
(A) Quantitative approach (B) Time series
(C) Casual approach (D) Qualitative approach

Equity multiplier is computed by dividing :
(A) Total assets by Total debts (B) Total assets by Total liabilities
(C) Total assets by Total equity (D) Total assets by Total interest

D —9308 18



38.

39.

40.

41.

42.

o fod T3 uR=se ufed St wos WA 38 - 41 @At ST SaU |

et <1 <Rl & SR STRIE wied § stenfies fasm gon ¥ ik I% o fava & qad
ST I HEAN & | FehRIcH il o afg e ot g8 o yfa a sifafiad ¥ § seerdt
@ ¥ Safer sifemisr <o § S e oAl # fafid gfs g8 ® o < A we-wedt
e ! WG H HH g3 ¢ | 3 TRl o TS S STHIERO €9 § i SR Aeeryu
B %A B & Tl Wied i HiT o1 TEl-Te! STIAM M i Sd | S STfaeh &mar ot
foritar amTd = 31yl 8 T Wit fasheq ARTG ¥ S S HWehell ¥ |

fgdta fava g =t oifd iR qorTeas &9 9 O, Gferd iR ARmHETTs gaTg A
forsr smegfTeR STaRTg wRie o IS 1 Uehe YdT € | Jd VIaTsst o o1 wIqeifel | efrer s
e, STAEIE A 1 e YR §3T1 | 30 HHY AP A Hifeash! & Jeoidl & 999
BRI Aehdiall 7 SRl wied Wi 1 sty ge fora |

fusel dF o1 9R 9Tkl ¥ 39 TE & Rl TeEE TR T €1 T 9 agdl 3 aeaHS
SRR 2 ST SfeRie 3 TE-Sel qargae o | gargae fafte e aRammerE iR
ek fafeE & anffra 6t Sl ¥ | afEones Sun (2fgein), S fAof grt qeigEe
T § ST TR qargHH <a 7, 3 TR st fafusll ofR wwe wiiten fafdi o fawfsm
e T B, g Tua Wi | oiet esefedt Wi ek iR Syt faftmw fasa @5 §
o =) 1 M 1 HE YT T foRan S §
g wied § sifafha Hafs fFa iR yga &t &2

(A)  AffeEa gaigam (B) afifead e

(©) wffeea wqfs (D) affed s

MY SFaUgE T 1 9a ©

(A) T Ifg (B) @ amn U gy

(C) ot Hamerti  gfs (D) 37=1 qaigaM

AT e i TN h1 A fhe TR W qFIF gl ?

(A) Hifen (B) wifeen! (C) EAA (D) sTyfd
atga ot Hatfaen favawta fafy ¢

(A) URHATMHS SURTH (B) HHF wIfkult

(C) fFad S| (D) TUTHE SUNH

e ik fhaeh faseH gr1 uftesferd foram S &2
(A) o qREaEl Sl el RO g (B) el UREmfsl i el T g
(C) Tt yitewfasti sl Fet 3Rl g (D) el UREmfsl i Fol = g
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43. The inventory turn over ratio is arrived at by dividing :

(A)
(B)
(©
(D)

Cost of goods sold by cost of goods purchased
Cost of goods sold by the average inventory
Average accounts payable by cost of goods sold

Total accounts payable by total cost of goods sold

44. Discounted cash flow is a valuation approach where :

The estimated value of a financial asset is the past value of the asset’s expected
future cash flows

The estimated value of a financial asset is the present value of the asset’s expected
future cash flows

The estimated value of a physical asset is the present value of the asset’s expected
future cash flows

The estimated value of a physical asset is the past value of asset’s expected future
cash flows

45. Match the following List-I with List-II :

List-I List-II
(a) Break even analysis (i) Internal Rate of Return
(b) Equating the present value of (ii) Profit-Volume determination
all cash flows to zero
(c) Net cash flows from any change (iii) Sunk cost
in operating revenues
(d) An out lay incurred before (iv) Operating Cash Flows
making an investment decision
Codes :
(@ (b) (o) (d)
(A) @@ @ (@v) (i)
B) @ @) @v) (i)
(€ (@v) @) G @
(D) (@) Gv) @ ()

46. Assertion (A) : The risk premium reflects the additional return demanded for internal

and external risk factors

Reason (R) : There are various risks that need to be covered and hence additional

>

)
B)

(
(
(©
(D)

)

D —9308

return is to be generated as risk premium
(A) and (R) both are correct, and (R) is the correct explanation of (A)
(A) and (R) both are correct but (R) is not the correct explanation of (A)
(A) is false but (R) is true
Both (A) and (R) are false
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43.

44.

45.

46.

T TSR ST ek fauIe 5/ e 2refm &2

(A) o= T SEGHI I AN I BIGT TG D! AN G
(B) 9t ¢ aeqeil i AT R SfEd sHeed g

(C) 3ired <7 fedme w1 o=t a3l &l AFd gR

(D) Fd <A fedra o1 o= aEgeli o ol AR gRI

FZITA Fohg FaTe e e sarm ¥ e -
A) fadia ufgmfa &1 smfa go, aiemta & stifea Jiet T are %1 fova 9o 2
B) fariia uftamafa &1 sTmifa goo, uiamfa & o1aférd et e aTg 1 9daH Jod T |

C) i afterafa =1 sTmTfTa Hou, afterafa o oTafard Jre T WaTg o1 IdHH o4 B |

(
(
©

(D) <iifier wftEwafa 1 STgmfa gou, aRewafa & eTafird Wet e yare &1 fammd 9o 7

Frefafed T=i-1 1 g=it-11 9 gafaa i

geit-1 geit-11
(a) HITH &R forgetm (i)  Ffdhe i A I
(b) EHA THS YATE o AGHH oA (i) wrH-wEn fuRy
I I R GHRd HET
(c) T=TeH ™ H fohet ufteds @ (iti) Fers @
e Tehe et
(d) T fofa @ | gd foean afem (iv)  9=Ie TS Y
EacH
(@ (b (o) (d)
(A) @) @  @v) (i)
B) @ () (@v) (i)
Q) (v) (@) @) ()
(D) @) (@Gv) @) (i)

AURIT (A) :  SIFEH IS, TR IR AR SIEH HReh & fod 7 Afafs gfawa
Wafsifead et ¥ 1

HET (R) : fafirr SifEml sl Tar A i STEXd Bt © SR 9o, Sifam seidt o &9
T e1fafs gfawar s e =nfed |

A) (A) 3R (R) IH &l € T (R), (A) T HE TR T |

B) (A) 3R (R) T T& € W (R), (A) 1 Tel TSR0 & T |

C) (A) e € T (R) Tl T

D) (A) 3R (R) SHi T 1
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47.

48.

49.

50.

Match the following List-I with List-II

List-I List-II

(@) In union, there is strength (i) Decision making

(b) A superior has direct supervisory (ii) Esprit de corps
authority

(c) The basic function of an Organization (iii) Mission

(d) Selection of a course of action from (iv) Line function
among alternatives

Codes :
(@ (b) (o) (d)

(A) @ @) (v) (i)

(B) (@) @v) @) @

© (@v) @ @) ()

(D) (v) @) () @

Herbert Simon called a course of action that is good enough under the circumstances
as :

(A) Satisfactory Decision (B) Correct Decision
(C) Satisficing Decision (D) Rational Decision

“Grape Vine” refers to :
(A) Individual Communication (B) Formal Communication

(C) Informal Communication (D) None of the above

Assertion (A) : Autonomous work group may work well in a decentralized
organization.

Reason (R) : Organization decisions are taken at different levels. The work groups
which are autonomous will work well.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

-00o0-
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47. frAfafaa gei-1 % ger-11 9 fham S8

geit-1 geit-11
(a) w= (FftEm) § ufe 7 ()  fofa e
(b) THGETR o U YIH ToEhE (i) TSR T &R
B B
c) ST 1 gAYd & (i) THeE ()

d) foreredi | | s fow =1 ==A (iv) e BeRE (W Yk

@@ () (9 (d)

(A) @ @) @v) (i)
(B) (i) (v) @) @)
©Q (@v) () (D) (i)
(D) (v) @) @) @)
48. < foun ufafaE & ofdia HTh! 3T=st € 59 o WEHT 1 FRT T ¢
(A) Harse o (B) @&l i
(C) wfeHwEET o DEERURELD
49. ‘39 e’ fHE T SR T T ¢
(A) BT e (B)  irq=nfieh wewor
(C) ST TEw (D) ST® H ¥ &S &I

50. URIA (A): TFd H T fahiwd @1ed ¥ w71 R g § |
HIT (R) : e | fofa s v R e S €, o6l wee (39) S @ € o1 e
Exufl
A) (A) 3R (R) THI T T 3R (R), (A) HT & TIHH T |
B) (A) 3R (R) Sl W&l € W (R), (A) 1 Tl TIBHI T T |
C) (A) Ted § W (R) T T
(A) 9 (R) THI TTerd €

)

(
(
(©
(D)

-00o0-
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